7"02

8 930 — 2 SHRWIMWIDIR Nawn

2V NO12AT FPXPN0T DRI A0 ,Mo1dna own Ren (1
arctgx

A [-72/2,712]) o f (X) = f (X) =cos™ x .X
(X)) = x2+n—l2 A

:MDINT M0 DX VAP NO12A PN Ren |

.fn(x):L a fo)=x"-x" 1
nx+1

ST R 11T (2

Ja,b]-aw"™a f,-g,—> f-g x,[ab]-2w"ma g, —>9g .[ablaw™m f, - f ox

T W 1o (3

Yupa w'"na R I f, (t)dt —>I f(t)dt ix,[a, bl-aw"maxd f, — f ox

o (_1\n _ n
z; ) 1[—1 Xj PRIN2/VHMN M0 DIdNA X 23R vap (4
= 2n-1\1+x

n

£ X
nZ:;‘ L+ X))+ Xx3) -1+ x")

RIN/WOMIL MWV DI1ONA X 23 IPR? ¥R (5

higkXem!



